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QUESTION 1

You create a document with data from multiple data providers. Which two tasks can you perform to include all data from
all providers in the same report block? 

A. Synchronize the data providers. 

B. Manually merge all dimensions. 

C. Synchronize the data providers SQL. 

D. Manually merge the parent dimensions. 

Correct Answer: AB 

 

QUESTION 2

Which three statements are true of calculation contexts? 

A. If no context is defined the default context is assumed. 

B. You can use NoFilter() as an extended syntax keyword when using contexts. 

C. The ForEach context operator automatically takes the dimensions in the block into account. 

D. You must place parentheses around the values listed after the Where keyword when using the Where operator. 

Correct Answer: ACD 

 

QUESTION 3

Which keyword is defined as flexible for input contexts? 

A. In 

B. All 

C. ForAll 

D. ForEach 

Correct Answer: D 

 

QUESTION 4

You open a Web Intelligence document (WID) with tracked data changes. You wish to change the color of the tracked
data. 

You however cannot change the format of the tracked data. What should you do to enable formatting of the tracked
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data? 

A. Contact the system administrator. 

B. Edit the document in tracking mode. 

C. Open the document in tracking mode. 

D. Resave the document with data tracking formats enabled. 

Correct Answer: A 

 

QUESTION 5

Which type of relationship links sub-queries by default? 

A. OR 

B. AND 

C. NOR 

D. NAND 

Correct Answer: B 

 

QUESTION 6

Which three options are Web Intelligence drill mode options? 

A. Drill By 

B. Drill Up 

C. Drill Down 

D. Drill Through 

Correct Answer: ABC 

 

QUESTION 7

Which character should you use to reset the result of the RunningSum( ) function for either a break or a section? 

A. Semicolon (;) 

B. Percent (%) 

C. Underscore (_) 

D. Comma (,) 
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Correct Answer: A 

 

QUESTION 8

Which two are benefits of using breaks? 

A. Creates a navigation map 

B. Makes the table block easier to read 

C. Splits the block into smaller table blocks 

D. Enables the use of subtotals in one block 

Correct Answer: BD 

 

QUESTION 9

How much impact does data tracking have on the data size of a Web Intelligence document (WID) Compared to the
same document without data tracking? 

A. It will stay the same size. 

B. It will increase two times. 

C. It will increase three times. 

D. It will increase by 50% on each refresh. 

Correct Answer: B 

 

QUESTION 10

Which three methods can you use to combine queries using the Web Intelligence Rich Client? 

A. UNION 

B. MINUS 

C. UNION ALL 

D. INTERSECT 

Correct Answer: ABD 

 

QUESTION 11

How does rearranging the objects in the Result pane after the query has run affect the block display? 
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A. The objects are rearranged in the block based on the order in the Results Objects pane. 

B. The reordered objects are removed from the block. 

C. The block is sorted in ascending order based on the first object in the Results Objects pane. 

D. The block remains unchanged. 

Correct Answer: D 

 

QUESTION 12

Which Pos() function syntax should you use to find the location of the space in the Category string "Evening wear"? 

A. Pos([Category] , "" ) 

B. Pos((Category) , "" ) 

C. Pos([Category] ; " " ) 

D. Pos({Category} ; " " ) 

Correct Answer: C 

 

QUESTION 13

Which statement describes a benefit of using the NoFilter() function? 

A. It overrides query filters. 

B. It overrides query ranking. 

C. It overrides report ranking. 

D. It overrides universe security 

Correct Answer: C 

 

QUESTION 14

Which function would you use to extract the word "pants" from the product name "casual pants" of the Product Name
field? 

A. Right(5; [Product Name]) 

B. Right([Product Name]; 5) 

C. Right((Product Name), 5) 

D. Right(5, [Product Name]) 
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Correct Answer: B 

 

QUESTION 15

Where is a Web Intelligence variable stored? 

A. In the cell 

B. In the document 

C. In the Metadata Cube 

D. In the Central Management Server (CMS) 

Correct Answer: B 
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